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1.

Answer: (a) Only 1 and 3

Explanation:

Statement 1 is correct as Al-generated content
does challenge traditional notions of originality
and authorship.

Statement 2 is incorrect because Al lacks human-
like emotions and abstract thinking.

Statement 3 is correct since the passage mentions
uncertainty about Al’s future role in creativity.

Answer: (a) Only 1 and 3

Explanation:

Statement 1 is correct as reliance on Al could
reduce human originality.

Statement 2 is incorrect because Al will not
"completely" replace human creativity.

Statement 3 is correct since Al-generated work
raises concerns about traditional creative norms.

Answer: (a) Only 1 and 3

Explanation:

Statement 1 is correct as genetic modification
could lead to greater inequality.

Statement 2 is incorrect because gene editing does
not guarantee the elimination of all hereditary
diseases.

Statement 3 is correct as unregulated genetic
engineering could pose unknown health risks.

Answer: (a) Only 1

Explanation:
oStatement 1 contradicts the passage as genetic
modification does raise ethical and health

concerns.
oStatement 2 and Statement 3 align with the
passage, making them incorrect choices.

Answer: (a) Only 1 and 3

Explanation:

o Statement 1 is correct as biodiversity loss
disrupts ecosystems and food chains.

o Statement 2 is incorrect because pollinator loss
does negatively affect agriculture.

o Statement 3 is correct as climate change is a
known factor in biodiversity loss.
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T (a) Had 1 3R 3

WFTHT:

o HYT 1 el § Tt Al gRT FAftfa Traeht Aiferaar
3R AWH @ BT IRURS YRUMST Bl AT St 2
o ®YF 2 TAd § Fife Al H HAHIT Hig=T3f 3R
3 A BT AU B

o HYF 3 Tl § Fifh T TWAIHAG T Al B
Ui &t YD1 & IR T A &1 Iewra Rl
g

JTW: (a) Had 1 3R 3

TPIHI:

o BYF 1 eI § Fifp Al R FRar A Aferear
P HH B JHhdl 8

o HYF 2 TTad § Fifdb Al AFG TSl Bl "I
TRE " Ui 18T S|

o HY 3 TS § HifPp Al gRT IUF B URIRS
TITHS MG S! & IR | fIdnd T a8

IR (a) A 1 3R 3

BT

o FYT 1 TG ¢ I IS TNeH I SGHHT
§¢ Thd! B

o HYF 2 TTd 7 it ST Fured qft d=mg
ATl & I B TRE T ST g

o YT 3 WG 7 Fife Sfaffa  smalie
SoNfrafeT 3rTa ey SifeH UaT &R gahdt B

I (a) HAd

PTHT:

o HYT 1 T BT WS IR & i 3RS
IR A 3R TRy et fRiard Iad Har gl
o HYT 2 3R HY 3 T & I WJd &, g 3
TTod fahey 991 o

G?l?:(a)av_clﬁ13'ﬁT3

FTHT:

o YT 1 Tgl g Fife Sa fafdyar =t g
RfRUfIeT 1 SR Ter SRIaai Bl STfed Hat g1
o HYF 2 TAd § Hifh WRFTUGI B 8 BN &
THRIHAD U J THIIT Bl 2|

o HU 3 TEl § FifP Taary uRad o fafgerr
81 &1 T F1d $Rb B
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10.

11.

Answer: (a) Habitat destruction
Explanation:

The passage highlights habitat destruction as a
primary cause of biodiversity loss.

Answer: (¢) Only 1 and 2

Explanation:

o Statement 1 is correct as repeated exposure to
misinformation can make people believe it
(illusory truth effect).

o Statement 2 is correct as confirmation bias
leads people to favor information that supports
their views.

o Statement 3 is incorrect as media literacy
emphasis widely, meaning it not

varies is

universal.

Answer: (a) 1 and 2

Explanation:

o Statement 1 is correct as the high cost of space
travel is a major challenge.

o Statement 2 is correct as long-term isolation in
space poses psychological risks.

o Statement 3 is incorrect as public interest is
not cited as a major challenge.

Answer: (d) No definite answer can be given

eThe passage presents both of the
argument—some believe space colonization is
necessary, while others argue that Earth's problems
should be solved first—making it impossible to
determine a definite answer.

sides

Answer: (b

The passage explains that economic growth
enhances living conditions but comes at the cost of
deforestation, pollution, and climate change. This
contradiction makes balancing growth and
sustainability a challenge.

Answer: (c) Using innovation and policy
frameworks to regulate resource use.

o The passage mentions that some economists
argue for development through
innovation and policy intervention, which suggests
managing resource use rather than completely
stopping industrial growth.

sustainable
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10.

11.

JTR: (a) ST fam=n

WFTHT:

o Tg TR HTa 411 &1 ofa fafderan 510y &1 v
Ui SR IdTaT 8|

W:(c)%?ﬂ 3R 2
WFTHT:

o HYT 1 Tl § Fifes Tad I & IR-IR TS H
3§ AN 39 W Iy R I&d § (YIS I
THTa) |

o HYT 2 el § Fife g gare art & TR
SR BT Ue o & e IR Ha1 & o 3P
o=} &1 FmdT A B

o HY 3 Tad g Fifep HfSAT FreRdl R SR IS
= 9 it g @, et o @ & ug ardaiftie =&t
gl

JW: (a) 1 3R 2
FTHT:

o HYF 1 gl § Fifer 3faler amm &t 3= AN U
ESIESIGI

o BYF 2 Tl § FifP 3idRe & i srerma
AT e Uar HRar gl

o BYF 3 Tad ¢ HiifP Idue &d &I b Fe!
YHrdl b U H IgYd el fpar T g |

JW: (d) P13 i IR 7Y far o g

T 3T db b Gl Y&l B Ud AT & - $D
AN A § P siaRer Sufashieru smews ¢,
SefP 3T a% &d § fb gedt B gHensit B uga
g fobar ST T1lR - o ue fAfda SR Reiia
AT 3T B ST B

ITR: (b) TR H Farn T § fa e gfg Shtaw
@ Rufadt & IR A B, AfH a1 Bt Ber,
TEHUT 3R Sear] URad- Bl ST TR 3 81 I8
Ry e ok fRRAGT & Idfed & &
ECIGICRIGIG]

I () I I &) fafaftg a3 & fore
FarER 3R ~ferTd gra BT UG BT

o T H I o T ® 5 po erfum
TR 3R Hifd 58T & Ty ¥ Idd [e™g &
o 9% <d § o e e & & ke 9
RIeh & SO FHUT ST BT a4 B bl Ghd
3argl

ALIGANJ | INDIRA NAGAR | ALAMBAGH, LUCKNOW & KANPUR
WEBSITE : www.raceias.com, & /raceiaslucknow

E-mail ID : raceias.2010@gmail.com

RACE IAS



12.

13.
14.
15.
16.

17.

18.

19.

Answer: (c¢) Al lacks emotional depth and ethical
reasoning.

o The passage explicitly states that Al struggles
with moral decision-making because it processes
data based on statistical models rather than human
intuition and ethics.

Answer: (a)

o The passage presents a debate on whether Al
should have pre-defined ethical rules or evolve
independently based on data, making this the
correct choice.

Answer: (a)
o The passage states that humans struggle with
uncertainty ~ because  the  brain  prefers

predictability, making risk avoidance a natural
response.

Answer: (b)

o The passage highlights that exposure to
uncertainty—when managed properly—improves
adaptability and problem-solving rather than
eliminating stress entirely.

Answer: (¢)

o The passage states that proponents believe UBI
reduces poverty and allows people to explore
education or entrepreneurship without financial
risk.

Answer: (a)

o Critics argue that UBI might reduce
motivation to work, which is a central concern

about its implementation.

Ans (a)
The passage genetic
engineering offers potential cures for genetic

o describes  how
disorders, but it also raises ethical concerns

like the possibility of "designer babies."

Ans (a)

The  passage that  genetic
advancements may not be equally available to
all, leading to ethical concerns about fairness.

° mentions
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. QTR (0) Al H HIaTHS TERTS 3R Afde db o
3T B
o T WF =Y ¥ §ardl ¢ & Al Afaws Fofg a3 o
gy BT § e Tg AFAIT 3fai iR Afdedr
& TG FiRADIT Hisd & MYR TR Tl BT T
HAT B

. IW: (a) o TR 3 10 TR T69 Ugd Hal § [
1 Al B gd-Fuiia Afde Fam em skt ar Sar &
YR R Wad ¥4 ¥ faafyd g1 =@iiey, o ag
g fdped 9 ST 81

3T (a)

o T H g1 T § b g fRifddar @ S ®
Hifes ARRTSH YaigH B urufied a1 g, e
A T 94T T WiHTfas ufafar 99 St 81

. 3T (b)

o I 3 91 TR TSI STaaT 8 fob Siff¥aar &
o H 3 IR - 59 39 31 J s fpar smar g -
T D1 G TRE  TH PR b ol B a=iterd
IR FHRT-FHYE § GUR g g

. IR ()

o MY ¥ Pel T ¢ 5 guddt &1 A §
geflemg TS B HH BIAT § SR AN B R
Sied & o Riem a1 ITWar &1 uar aE B
3fAfY TATRI

. S (@) o ATAD! BT db ¢ P FaIATS B HRA
B! UM BT HH B Tbdl g, ol 39 BT B
IR T TP e ffar 2

. 3R ()

o TN H I M1 § T Y SAfed geifaiar
SAfew faeRl & fou Wi STEIR UeH &l g,
e T e Rigsi @ Jua o=ft s
fRidreli & +ff o7 SR 21

G RN(Y)

o TR B Ieara o T § fob Srrafies i et
¥ fort 99H ®U ¥ Iuas T8 B Il |, o
frsaerar & IR # Afde RidTE Ue7 81 8
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20.

21.

22.

23.

24.

Ans—b

e At 3 pm, it is right angle. Exact 3pm
cannot be considered as between 3pm. So,
Between 3pm and 4pm right angle happens
only one time.

e Between 4pm and Spm it happens two

times.

Answer d: 13 km east

Moves 6 km north.

Moves 8 km east.

Moves 6 km south — Now at the same latitude.
Moves 5 km east.

Final position: 13 km east from the start.

Ans—a

From midnight to 6:00 am, there is total 6
hours

So total time lost = 2x6 = 12 minutes

So time will be 5:48 am

MAnswer: A) 5

Explanation:

Students between them

=Total—(Rahul’s Position+Sita’s Position)
Students between them=Total—(Rahul’s Position+
Sita’s Position)

=30—(15+10)=5

=30—(15+10)=5

Ans (a)

Explanation:

A 1is the father of B, but B is not the son of A —
This means B is the daughter of A.

C is the daughter of D, who is the wife of A — D
is A’s wife, so C is their daughter.

E is the brother of A — E is A’s sibling (male).

F is the mother of C — From statement 2, since C
is the daughter of A and D, F cannot be A’s wife
but must be A’s mother.

Now, since B is the daughter of A and D, and C is
also the daughter of A and D, B and C are sisters.
Thus, the correct answer is: (a) C
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20.

21.

22.

23.

24.

34 -b

- CIUER 3 I9I, U GHBIU g1 3Th 3 TS Pl GIUER 3
O & dF 81 AT S bl | 3HOTY, IUER 3 §91 9
U 4 IO & S GHBI HId Tb IR sl 8

- T 4 99 I 5 991 & §19 I8 ol SR g1 8

JW d: 13 forft gd

6 fpHl IR Pt SR dgar gl

8 fortft qd @t SiR Jgar g

6 foreht féror ot SR SgaT § > 3 I e W
5 foprt gd @t 3R S g

sifaw fRufa: oema § 13 fet gd|

JtX -a

3R I V YT 6:00 T TP, HeT 6 T B &
- 1 ol IHI BI BT = 2x6 = 12 e

- 1 GHY a5 5:48 I

3TR: A) 5

TPIHI:

J% §1 TH =

FA- R B U + i o1 fRufay

Id o1 BA=HA-RIgd ! Rufa+Iiar o1 fRufa)
=30-(15+10)=5

=30-(15+10)=5

3T A) ¢

TPIDHR:

A, B &1 AT 8, Afh B, A &1 T3 &1 & > 38 o
efpe ADITNR
CODBITHE NAB U § > D, AP Ual 3,
ERISIRRRCARE RS

EADIHE R > E ADTIGIR (T3Y) ©.
FCHTAE>HUT29, dH C, A MR D B I g,
ZRAT F, A B! Ud! 81 8) Gabdll, At I/ A B A
BT AR

3(d, If® B, A 3R D B 9t §, 3R C ot A 3R D &
9¢1 g, 39T B SR C 9B &

U USR, TaI SR 8: (a) C
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25. Answer: (B) Bharat 25. 3R (B) HRd

Explanation: TPIHIT:
Eshan is at one of the corners. IYF TS HH W gl
Bharat is between Amit and Deepak. 1R g iR s F ST 2l
Charan is immediately to the left of Bharat. TRUT U & 31 a1 3R B
The correct arrangement is: Eshan - Amit - Bharat T8 a1 %: 'chﬂ:T - 3 - R4 - TROT - SUp |
- Charan - Deepak. A Ra TR
So, Bharat is in the middle.
. 3T (A) Se1

26. Answer: (A) Sister
Explanation:
Rohit’s grandfather’s only son = Rohit’s father.

WU AR F a1eT BT IHA ol = Afed &
foran1 Afed & forar Bt 31 = AT Bt 571 @, Al

\
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The daughter of Rohit’s father = Rohit’s sister. Afed FHaET 2!
So, the woman is Rohit’s sister.
27. BT} (B) 28

27. Answer: (B) 28 RRLIERUE
Explanation: Jed s UPR &:
The pattern follows: 2+4=6
24+4=6 6+6=12
6+6=12 12+8=20
12+8=20 12+8=20
12+8=20 20 +10 =30
20+10=30 | 20+10=30
20+10=30 A 30+ 12=42
30+12=42 30+12=42
30+12=42 @, I FBI 30 7
So, the missing number is 30.

28. Answer: (A) R 28 ;;-;;é? i
Pxplanation: | & 78 1l B SR O A Y R Y R, 7
By arranging the people based on the given e 2
conditions, we get: i
T-R-P-U-Q-S T-R-P-U-Q-S

SYUBR, R, TP 3P aTE 3R Bl

Thus, R is to the immediate right of T.

29. Correct Answer: (b) D 29. @RI ST (b) D

Explanation: IR

Arranging Row 1 and Row 2 based on the given feu 7T QN & SR W Ul 1 3R dfeki 2 B
clues. IR HRATI

Ensuring placement restrictions are met. g gFTd o1 o wigde ufdsy g2 i)

The final arrangement is: 3 TR 59 UHR %:

Row 1: T-Q -R - S - P (Facing South)
Row 2: E-B - C - D - A (Facing North)

Ufdd 1:T- Q- R - S - P (GI&0T T 3R J& FHRoh)
Gfad 2:E-B-C-D - A (STR ! 3R T& IXh)
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30.

31.

32.

33.

34.

Ansa

Total number of students

= (Position of Saket from left + Position of Saket
from right) -1

Total number of students = (27 + 34) — 1 =61 — 1
=60.

Hence the correct answer is option A.

Ans b

Explanation:

The first conclusion “Some hammers are stones” is
not true according to case 5, where all the
shammers are stones. The second conclusion”
Some windows are rings “ is true in all the three
cases. Hence the correct answer option is B.

Ansd

Explanation:

Four combinations of Venn diagrams are possible
according to the two premises. The first conclusion
“some cups are not shirts” is not true in all the
three cases, as all the cups are shirts in every case.
The second conclusion “some shorts are cups” is
true only in the first three cases, whereas in the last
case it’s not true (all the shirts are cups). Hence
neither conclusion 1 nor 2 is correct. Hence the
correct answer is option D.

Ansd

30 km

~
0
(ep}
D

* 35 km

Required distance = AF

=30+15
=45m

From the above diagram, F is in East
direction from A, Hence the required
answer is 45m East

Answer: (C).

[J Explanation: As a responsible officer, you must
act based on equity and need rather than external
pressure. Ensuring resources go to the worst-
affected regions aligns with administrative ethics
and public service values.

30.

31.

32.
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JW a
B B HA T
= (@T¢ T WIhd BT VM + &Y Y qihd BT -IM) -1
B B pd AT = (27 + 34) -1 =61-1 = 60.
THIT g1 SR [THe A B

S b

TPIHI:

Ugd FIspY 5% gUIS TR & $Y 5 P TR el
T B, ol wft g TR ¥ W ey Fw
fasferal oo g dFf aHal § 98T |1 39foe I8t
IR fapeu B R

IR d
TPIDHR:

3 IMYRT F IR A7 3RWI & IR FSH THF g |
e 8, i & Ama § qaft oy o 1 gaRT e
v sifod ame & 78 9 TE § (@ wE 55U ) |
Zqfere 9 at ey 1 3R 7 8 2 TS 81 gufee Tet
IR fawed D B

. Ansd

Required distance = AF
=30+15
=45m
From the above diagram, F is in East
direction from A, Hence the required
answer is 45m East

. SR (0

0 WSIHR0: THh ORISR & =0 H, 3!
e AT & ToITT AT 3R aLHT B TR
R FH & AU T8 AT &A1 F dare
T 31t yurfad & § S, veme Afadwdr
3R QWi Ja1 Gedi & U g
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35. Answer: (B)

[1 Explanation: FEthical governance requires
integrity and accountability. Following proper
legal channels ensures justice while maintaining

official decorum.

36. Ansd

At 4 o’clock the hour hand is at 4 and has an angle
of 30°*4=120°

An Hour hand travels 1/2° per minute In 20
minutes it will travel 20 *(1/2°) = 10°. Adding
both we get 120° + 10° = 130°

37. Answer: ¢

Explanation:

Let the smaller number be x.

~ Larger number = 6(x) + 30 = 6x + 30
Difference between the two numbers is 1380.
~ (6x +30)—x =1380

~5x=13501.e.,x =270

Hence, option c.

38. Answer: d

Explanation:

Let the first term of the GP be a and the
common ratio be .

Hence, a +ar = 16 and ar2 + ar3 = 64

~12 % (a+ar) =64

~12=64/16 =4

sr=42

Whenr=2;a=16/3

Also, all terms of the G.P. become positive.
However, this violates the condition that
alternate terms are positive and negative.
ar=-2

~a=-16

~ Third term = ar2

=(-16) x (-2)2=(-16) x 4 =—-64

Hence, option d

39. Ans —d

Since the progression is reducing, maximum
value will be when last term is 0. Since then
the terms will be negative and sum reduces.
nth term =a + (n-1)d =50 + (n-1) x (-2) =0, n
=26
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W
~

W
[oe]

39.

[ ()

0 R Afde WA & fofT SAFCRY 3R Sarees!
F ATHAT Bt 51 IFIT BN Il BT U
BT AYSTRS RITER §1C 3@d §U A JHiET
RG]

. 3Wd

4TS U BT S 4 W § 3R SUDT HIUT 30°4=120°
g

He Pl J§ ufd fie 1/2° Fadt 81 20 fiFe & Tg
20%(1/2°) = 10° TCIT| GIHT P ST+ TR §H 120° +
10° = 130° Qi ©

. 3¢

TPIHIT:

AT b B G x B

-~ TSI WA = 6(x) + 30 = 6x + 30 T T3 &
oI 7 3R 1380 B

~ (6x + 30)—x = 1380

~ 5x = 1350 3f4fd, x = 270

sﬂﬁﬂ,ﬁWc.

.3k d

WHIHR:

I o 6 snfirdta umfa &1 ugdn ug a § SR
d U r 2
31?[:,a+ar=16®ﬁ?ar2+ar3=64

~r2 x (a + ar) = 64

“r2 = 64/16 = 4

“r=x2

Sidr=2a=16/3

Ty €, S Wi & 9aft ue 4T B 9§
BTAT, T8 39 U BT IT BT § b dbicd
Ug 4TS 3R BUTHD ¢ |

or=-=-2

~a=-16

- JRRIT UG = ar2

= (-16) x (-2)2 = (-16) x 4 = —64

ggfa, fdwed d

IW - d
4fep Wi He @ 8, gy Sffisad A q9 grT
e 3ifam g 0 B df 99 Ue HUmEd g 3R
IRT HH B AW ndl UG = a + (n-1)d = 50 + (n-1)
x(-2)=0,n =26
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40.

41.

42.

43.

44,

45.

46.

Ans—d 40. TR -d
AT x3, +3, x3, +3 ... HH T T QI B
Series is going in the sequence X3, +3, X3, +3 2x3=6, 6+3=9, 9x3=27, 27+3=30, 30x3=90,
=~ 90+3=93
2x3=6, 6+3=9, 9x3=27, 27+3=30, 30x3=90,
90+3=93 41, IR -d
a+d=8
Ans*d_ a+7d=3(a+d)+2=26
ai;ld_i _ T B W EH d=3, a=5 @ g
ar7d=3{atd)+2=26 0| BITETAB BTN = (a+an) = (5+26) = 124
Solving we get d=3, a=5 w 5
Sum upto 8th term = (a+an) = (5+26) = 124 ‘ E 1 T c
£ |42
Ans —c -3 90x(1+3) = 30
90><(1_3) =30 -E 3OX(2+3) =20
30%(2+3) =20 H ‘g 20x(3+3) = 20
20%(3+3) =20 £l 20x(4+3) = 2667
20%(4+3) = 26.67 u £ 67x(5+3) = 44.44
67x(5+3) = 44.44 ‘E
¢
Ans—b =§ 43. IR -b
Average = Sum/total number. & 3T = TN/ T |
Sum of n terms in an AP = (first term + last I TP AP H n UG &1 TN = (UgdT UG + 3ifdH UT)
term) A us AP H n UG BT 3T = W/n = (YA UG +
Average of n terms in an AP = Sum/n = (first 3ifgA ye)/2
term + last term)/2 3fct: T8 3fId = (30+88)/2 = 59
So average here = (30+88)/2 = 59
<q|44. IW-d
Ans—d GP & 3d UGl HTIN = = = 135
Sum of infinite terms of a GP == =135
Ans—a 45. 3 -a
146 = 144 + 2, 144 = 12x12 146 = 144 + 2, 144 = 12x12
171 =169 +2, 169 = 13x13 171 =169 + 2, 169 = 13x13
198 =196 +2, 196 = 14x14 g 198 =196 + 2, 196 = 14x14
227 =225+2,225=15x15 m% 227 = 225 + 2,225 = 15%x15
X =16x16+2 =258 ‘E X=16x16 + 2 = 258
L]
X
Ans—d M SR-d
Assume that 1Kg of sugar costs Rs. 100. H § A AT s 1 faral =i & B 100 IUA B
In reality he is gaining 20%. That means from 8 IR B I 20% HT ATH 8 @1 3| ITHT Taad ¢ fb
1Kg sugar he is receiving Rs. 120. u dET 1 fpe <+t & 39 120 393 i B §
But he claims he is losing 16%, which means E Afpa ITPT 1aT % & 39 16% @1 RERIE Eﬁ el %
he is saying that he is getting only Rs. 84. ‘ g ST Adae ¢ & 98 g e © fo I Pad 84
If 120 corresponds to 1000g, 84 corresponds s TR AR
to = 1000/20= 84 =700 g =3 3 120 HT HIAT 1000 UTH B, T 84 T HAAS =
o 1000/20x 84 = 700 ATH
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47.

48.

49.

50.

51.

52.

53.

Ans—b
Let’s consider 5 Kg of sugar.
3x50+2x75 =300
Selling price of one Kg where she incur no
loss or no gain = 300/5 = 60

Cost

Ans—Db
Use successive percentage formula
x+y+xy/100 = -20-40+(-20%-40)/100 = -52
So effective discount =52%
52% of 1500 =780
Selling price=1500-780=720

Ans—b
If cost price of one car is ‘x’, then cost price of
other car = 6,00,000 — x
Gain on one car will be equal to loss on the
other
4/100x x = 2/100 x (6,00,000-x), x = 2,00,000
and 6,00,000-x = 4,00,000

Ans—c
Let Cost price of 1Kg =100
Then 500x100=SPx400, Selling price = 125
Thus 25% profit

Ans—a
Effective discount = x+y+ xy/100= -20 + -30 +
(-20*-30)/100= -44%
Marked price (MP) — 44% of Marked price =
560
MP — 0.44MP = 560, MP = 1000
Cost Price (CP) + 60% of CP = MP = 1000
CP + 0.6CP = 1000, CP = 625
CP>SP, so loss.
Loss =625 —560 = 65

Ans—a
X =7Q+2, Q=8P+3
Then X = 7(8P+3)+2 = 56P+21+2 = 56P+23
When 56P+23 is divided by 56, remainder =
0+23 =23

Ans—-C

If we see here, negative remainder is always -4.
When number of students is divided by 16, 24, 25
and 30 the negative remainder is -4.

So number of students = LCM (16, 24, 25, 30) — 4
=1196
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51.

52.

53.

.3t =-b

T Y 5 framg T 81 AT = 3x50+2x75 =
300

% [ &1 fawa g Siel 39 SIS g1 a1 s
T 75T gIdT = 300/5 = 60

. 3M-b

Hitied UIARId G BT SUART DY = x+y+xy/100 = -
20-40+(-20%-40)/100 = -52

39feTT guTdl B = 52%

1500 &1 52% = 780

fasha g = 1500-780 = 720

.3t -b

I Th HR & 6T T X' 8, Al g SR P HY
T = 6,00,000 -

TH HR W ATH T PR TR §IH & SRI&R T
4/100x x = 2/100 x (6,00,000-X), X = 2,00,000 3R
6,00,000-x = 4,00,000

. 3R -c

O AT 1Kg &1 T = 100
dl 500x 100=SPx400, fdsha Ted = 125
U UPR 25% ATH

3R -a

quTdt ®< = x+y+ xy/100= -20 + -30 + (-20*-
30)/100= -44%

3ifdd e (MP) - 3ifdd T &1 44% = 560

MP - 0.44MP = 560, MP = 1000

ST He (CP) + CP BT 60% = MP = 1000

CP + 0.6CP = 1000, CP = 625

CP>SP, ZHfeIT UTel|

81 = 625 - 560 = 65

GE q —a
X = 7Q+2, Q=8P+3
WX = 7(8P+3)+2 = 56P+21+2 = 56P+23

S 56P+23 B 56 ¥ fIHTRTT fobar wrar @, Y At
- 0+23 = 23

IR -C

Tl o, dl UMD AY G -4 BT 3| 5F ST Bt
TS DY 16, 24, 25 3R 30 J U fpar S g,
aq BUTHS AT -4 AT B

e BT P G- = LCM (16, 24, 25, 30) — 4 =
1196
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54. Ans—-C

HCF of 120, 192, 144 =24

Each group will have 24 soldiers

Total number of groups = (120+192+144)/24 = 19
55. Ans —b
Let correct responses
responses be ‘I’
Then C+1 =120 and 3C-1 =232
Solving we get C =88 and [ = 32

be ‘C’ and incorrect

56. Correct Option: (a) Only 1 and 2

Explanation:

Assumption 1 is implicit because the suggestion is
based on the belief that public transport and EVs
help reduce pollution.

Assumption 2 is also implicit, as the statement
begins with a goal to improve air quality—
implying that the
unsatisfactory.
Assumption 3 is not necessarily implicit. The
statement recommends a policy but does not
assume that public willingness already exists;
rather, it may need to be cultivated.

current  situation  is

57. Ans—b

3H+5M+F = 1175 and SH+9M+F = 1975

Two times equation 1 — equation 2 = H+M+F =
2X1175-1975=375

We need to find 2H+2M+2F = 2X375 =750

58. Ans—d

(7o)

Visitors = 30+22+33+25+25 = 135

c
59. Ans b
APPLY (atb)"2-(a-b)"2=a"2+b"2+2ab-a"2-
b"2+2ab =4ab. Here a=469; b=174. =

[(469+174)"2-(469-174)"2]/(469*174)
[4(469%174)]/(469%174) = 4.
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54.

55.

56.

57.

58.

59.

RACE IAS

120, 192, 144 BT HCF = 24
TS THE H 24 A g1
TG! B Hol GBAT = (120+192+144)/24 = 19

IR -b

A AT & TR ‘C' & 3R TTeld SR 1’ R
@l C+l = 120 3R 3C-1 = 232
TAPT IR EH C = 88 3R | = 32 fieiaT &

g fdpeT: (a) Pad 1 3R 2

TPIHI:

YT 1 FAfgd B s gema 39 fay w snuia @
% ardefe uRagd iR <t uguor &1 FH FxA &
Teg HRd g

yron 2 of fAfed &, ifes Fo arg o § gUR
IR & A A FF gl § - et o g for o=
R arddse® B

YRUT 3 3aWe ®U I f[Alkd 781 g1 soA d e
i @ R &t 7% @, Al a8 718t A §
& a1 B BT U ¥ HiNg §; h, 3/
fapRId X B ATl &1 Gl 2

IR -b

3H+5M+F = 1175 3R 5H+9M+F = 1975

A IR FHIHRUT 1 - GHBIO 2 = H+M+F =
2X1175-1975=375

B8 2H+2M+2F = 2X375 = 750 1d BT 8

3 -d

B

[ 2\

A “
Visitors = 30+22+33+25+25 = 135
C
3R -b

(a+b)"r2-(a-b)~2=ar2+b”2+2ab-a”2-bAr2+2ab
=4ab.

HETW a=469; b=174. = [(469+174)"2-(469-
174)72]/(469*174) = [4(469*174)]/(469*174) = 4.
e SR faped--8 §
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60. Ans—c
S1 alone: GS1+GS2+GS3 = 90x3 =270
S2 alone: GS2+GS3+GS4 = 100x3 =300
Using both statements, GS4 — GS1 =30
This means Athira scored less marks in GSI1
compared to GS4. Thus we can answer ‘no’ to the
question asked.
61. Solution —a
Since marks of all students in group A is less than
marks of any students from group B, average score
of group B will decrease.
62. Ans—a
X got 50% vote. Since there were no NOTA and
since 5% vote were invalid, Vote share of Y =
100-(50+5) = 45%.
So X won by 50-45 = 5% votes.
5% of cast votes = 2500
5/100x Cast Vote 2500, Cast vote
x100)/5 = 50,000
80% of voters in voters list = 50000
80/100% voters in voters list = 50000, voters in
voters list = (50000 x100)/80 = 62,500

(2500

63. Ans—d

(

]
3

(]
0

64. Correct Answer: B) Use of technical jargon
Explanation: The passage highlights

listening, body language, and suitable responses as

clarity,

effective communication components. Technical
jargon can be a barrier, not a benefit, especially
with non-expert audiences.
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60. 3TR - ¢
3{PHd S1: GS1+GS2+GS3 = 90%3 = 270
3P S2: GS2+GS3+GS4 = 100x3 = 300
Gl BT BT IUINT HRd GU, GS4 - GST = 30
39T o B fb SifiRT 3 G4 Bt gaT A GS1 H BH
3% U Ul 9 UHR 89 U T UY HT IR g
3 gHa gl

.3 -a

I T A & 9t BET & 3 THg B & ot off
BE F B! T HH ¢, TURIT TG B BT 3d WR
g S|

(=
—

.3 -a
X @I 50% drc |
f NOTA 78T uT 3R dfeh 5% e 3y U, Tafeg Y
H1aIE YW = 100-(50+5) = 45% |
dl X 50-45 = 5% dle 9 STl
ST T Al &1 5% = 2500
5/100x ST T {d = 2500, 3 W A = (2500
x100)/5 = 50,000
Tderdl gt ¥ 80% HAdGrT = 50000
80/100x Hdardl gal H HdaIdl = 50000, HAGH
Tt § AT = (50000 x100)/80 = 62,500

(o))
[\

Y options need 10 be correx

(

o o
5

(]
0
N

64. Tal I )
THI! NGSITS BT ITANT TSTHROT: TR T,
AT, RIS U1 3R Iugad ufafsarsii & gurdt
TIR gehl & U H IONR ol g1 ddbiet
Teqollel Th S1YT BT Toball §, MY Tal, WP R-
faRrwg il & T
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65.

66.

67.

68.

69.

70.

71.

Ans—b

Successive replacement case: Here
n= [((10-2)/10)] *2 =16/25.

So in total 25L, 16 is milk and 9 is water. So
water: milk =9:16

[(x-y)x)]

Ans (a)

This could be derived by observing the turns taken
by the line (with the circle on its sides). Each time
it rotates by 45 degrees.

Ansc
Refer to these lines, “The people of India realized
that the achievement of one hundred percent
literacy in a country much, much larger than its
own and with similarly complicated ethnic and
religious groupings, the rapid industrialization of a
nation that was a primarily agrarian society when
the Bolshevik revolution took place in 1917, the
attendant revolutionary steps
technology, the accessibility of health care
Western

in science and
(primeval according to standards,
perhaps, but not according to Indian ones) to the
general population, and despite the prohibition of
the government of the time the vast outpourings in
literature, music, art, etc. are momentous and
remarkable feats in any country*

Ansb
As indicated in the passage India applauded the
achievements of Russia

Ansb

Refer to these lines, “In contrast, all that the West
focused on were the massive human rights
violations by the Soviet State on its people, the
deliberate uprooting and mass migrations of ethnic
peoples from one part of the country to another in
the name of industrialization, the end of religion.
All that west focused on is mentioned in options a
and ¢ but not b

Ansd
The writing style of this passage is analytical so

option D is right.

Ans c
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65.

66.

67.

68.

69.

70.

71.

JIW-b

Hid JfaRTOE e 8l [(x-y)/)] An = [
((10-2)/10)] A2 = 16/25. A Fd 25 AR H, 16 U
3R 9 U B 1 Y UTEY = 9:16

Ans a

3R ¢

3 tfaqdl &1 deH o, “YRd & Al 3 deqy e
{3 310 ¥ P 99 3R M ¥U I Wied 9 iR
efiies gl aral 3= & Y uf=ra Jrerdr &1 Iuafsy,
T U Y $1 ol ¥ STfeie S 1917 |
IRIfGF Hifd & 00 T €U I SV FH T,
fagm SR et & HifdeRt Her, oM S=dl &
forT TRy @Y @1 Ugd (Ui dFa! & AR
TG 3fey, dfdbd YURA AH®! & IR o)),
3R I I B WHR & A0Y & rave Aled,
Tifld, wom onfg o que guR feet ot <=1 o
Teaquf 3R Swra-T JUaia &7

YRA 3 WERAT 3R dot F et & & o
Y DI I bl RIS Pt

IR b
ST o ey o Woba faar w8 URA A =9 @
JUATRAT Bt TRTT BI

IM®Wb
g dfamal &1 e o gud faudia, ufym 7 Haa
qfoud IT GRT U4 @ W §9 T W
AAAGRI & Iedod, ST THg! & AHGRIDHR
3ITTS B 3R 98 TAN R Yd”E W &4 digd
forar SfefieRo & AW W W F U BW A W
o8 o AFT &1 & ST T, o BT Sid gl

UiEH A forg R & Sigd foan, 31 I fddbeq
T SR <t & fora man 8, Afde ot & 7Y

IR I
Y T B aEd Aol fAoNuTee 8, 39fe
oo St Tt 81

31X ¢
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72.

73.

74.

75.

76.
71.
78.

79.

80.

Ans —c¢

Speed =Distance/Time, 30 =D/t and 40 =D/t-1
30t=40t-40

Solving we get t =4 hour

Answer: B) $2.5 million (25% of $10 million)

Answer: B) $2.25 million (50% increase of 15% of
$10 million)

Answer: D) Others

Ansa

Uneducated: Exclude the numbers inside the
square.

Educated: Numbers inside the Circle

Male: Numbers inside the Rectangle

Thus, 5 is the only number that satisfies the
conditions.

Ansc

Educated Urban Males: 8 and 9

As 8 represents the civil servants, 9 is the number
that we are looking for.

Ansb

Educated civil servant Males: 10 and 8
And d

Educated male urban civil servants: 8

Ans a
Uneducated female urban civil servants: 11
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79.

80.

.3 -c

T = g/AHT, 30 = D/t 3R 40 = D/t-1
30t=40t-40
TATRAWREH t = 4 e Aad §

. IR B) $2.5 Tfera (10 fAfera= STk &1 25%)

. IR B) $2.25 fHferm= (10 fafera STeR & 15% &t

50% gl)

. 3Uk: D) oY

. 3R a

SIRIE: o & SfeR BT T3] B BIS G
B 3d & 3fER &I G-
SHUSR, 5 & THAT TRSAT § ol [l B GRT Hell g

fRrfard =gt gew: 8 3R 9
s 8 Rifac Yot &1 qrian 8, 39 9 a8 Tem ?
forget 59 eI 51

. 3Wb

Rrféra fafae Jaw gew: 10 3R 8
R T 10

IR d
fRiférd gou wet Rifad dae: 8

3tk a
Sfrféra afgen et Rifdd dae: 11
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